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1 X
(1) mA

(BAZ: T - %)
K #OE BT O FE | RERCEL] M E 4 at 304z
1| i 19,702,200f  53.0 19,702,200{  52.8
2 sE 5 B 180,000 0.5 180,000 0.5
M FORZ A & 136,000 0.4 136,000 0.4
418 %5 # x M & 66,000 0.2 66,000 0.2
5 [BRASERENE P 5 51 22 1+ 4 13,000 0.0 13,000 0.0
6 M 7 18 Bl & & 1,128,000 3.0 1,128,000 3.0
7 |E B A5 B AT T 4 113,000 0.3 113,000 0.3
8 [#H 7 K Bl & AT & 62,000 0.2 62,000 0.2
g K &+ B 150,000 0.4 150,000 0.4
10| A2 80 22 A kF SR e 1| A A+ 4 13,000 0.0 13,000 0.0
1117 #H & k VA #H & 320,647 0.9 320,647 0.9
12|16 B & OV F %k 911,460 2.4 911,460 2.4
13 I S R 4,974,098 13.4 4,200 4,978,298|  13.3
14|%8 X i & 4,605,112 12.4 80,808 4,685,920 12.6
15(fF JiE I A 14,784 0.0 14,784 0.0
16|%F BfF 4 3,671 0.0 3,571 0.0
17 [#k A %o 878,506 2.4 90,000 968,506 2.6
18 [k el %o 500,000 1.3 500,000 1.3
19(7 I A 472,222 1.3 472,222 1.3
20| & 2,921,400 7.9 2,921,400 7.8
= &t 37,165,000| 100.0 175,008 37,340,008| 100.0




(2) mH (BB

(B2 TH - %)

K il IE BT O A MRk B %H at 304z
1 i = # 390,517 1.0 390,517 0.9
2 ¥ % # 3,514,212 9.5 3,514,212 9.4
3R 4 # 15,994,734  43.0 5,400 16,000,134  42.8
4 | 4 # 3,670,614 9.9 15,729 3,686,343 9.9
5% 18 # 58,046 0.2 55,500 113,546 0.3
62 H K FE X & 47,590 0.1 47,590 0.1
7 |pE T # 220,848 0.6 4,125 224,973 0.6
8 |t VN # 4,438,652 11.9 4,438,652 11.9
9 |14 ] # 1,550,357 4.2 1,550,357 4.2
10|% ) # 4,222,475 11.4 90,529 4,313,004| 11.6
11| f& # 2,940,907 7.9 2,940,907 7.9
12| 53 sl 4 60,233 0.2 60,233 0.2
13| 7 i # 55,815 0.1 3,725 59,540 0.2
= 7 37,165,000| 100.0 175,008 37,340,008| 100.0

3) mE (EE R
(HAL: TH - %)
X ool #OE AT O BH (MERKEL| MR #E 7t (37429
A 7 H 6,639,676 17.9 6,639,676| 17.8
Z’% 7S B # 8,002,376|  21.5 8,002,376 21.4
o |4 (= e 2,940,907 7.9 2,940,907 7.9
# /I &t 17,582,959  47.3 0 17,582,959  47.1
) (Gx £ 6,375,124 17.2 154,997 6,530,121 17.5
MR oM & % 176,902 0.5 9,461 186,363 0.5
i B # & 4,173,100  11.2 4,173,100 11.2
H AV 4 204,599 0.6 204,599 0.5
BEELXOHES-H4 601 0.0 601 0.0
i i & 3,769,136| 10.1 3,769,136  10.1
B & M & #H 4,826,764| 13.0 6,825 4,833,589 12.9
¥ fifi 7 55,815 0.1 3,725 59,540 0.2
= 7 37,165,000| 100.0 175,008 37,340,008| 100.0




2 BiE

(1) WmA
(HAp7:TH)
b5 il 1E %A + 7 i E A FK o B
13|H HE X H 4 4,200 ;7%7%4_*%%}%%%%%%%@ 4,200  HEBYE10/10
14l % M & 80,808 L B ITR AR 600|  Hih10/10
%iﬁﬁ%ﬁii%&ﬁmﬁﬁiﬁ%ﬁ%%% 600|  HiBn=10/10
%if%@ﬁ%&ﬁﬁﬁ@%ﬁﬁb%%ﬁ 6.319 W12
B R A1) S Bl PR R 1 A B < 55,500  #ih=£10/10
HEFEITBOE AL A 4 10,691  #fBh=10/10
2%%{;;%?01 SRR - PAfRERC 3,300|  #iBH%10/10
AR =Y BEHER SR LR 3,000|  Afigh=#10/10
FRELT-EH DO Bl E S LT e 798| AliBhE10/10
17|#k A & 90,000 | F Bl 5 A A4 90,000 S I A
a & 175,008




(2) mtd
(HAAZ: F-H)

/N i 1F & + 73 fifi 1k N w i B
3K A 2 5,400 |[fE 4kt — b 25 = H 52 3 2 iBh 4 600 IR DHY
2R ERAE A5 by e prk
;E%mﬂﬁ#ﬁ@i&%ﬁ%ﬁ%%% 600 (%5 2
TR AT MEIEERFEE 4,200 éﬁ%{%
4 |far A= 2 15,729 AFRL A« UL A B 2R S5 3 12,529 SER%254EFE[RE
HE BTG AL A2 B iBh=10/10
T BB TR FE D TAB R S A S A 95
EP=RE ¢ 905
(Z IR\ B Bk )
F RIS % 891
(Z I BT\ B Bk )
;&?@Z%@%ﬁ%&ﬁ%%%ﬁ%%éﬁf 350
HEFF S PRI B 1790
(Z RS\ B Bk ) ’
5|5 1) % 55,500 |5 AU Al 3 HiBhE10/10
TRtk AT AL 2,625
Bt E R TR 7,812
T — SOHOZET5 A BH ik U &
Z2ekt 20,776
o Rk ST R R R TR 8,663
FET AR B e 2 A B R 8.778
BEeE ’
B ER - B2 E TR 6,846
7 |78 T 2 4,125 E B TR AL A T A 2 B =10/10
THEE S 2 1890
(B R ICET AR E) ’
— R Rt 97
S E Sy I St S -9
HEFRE PRI B 945
S E Sy I St * S -9
g0 A A A e 105
S E Sy I St * S -9




/N ffi 1F %8 + 73 fifi 1E W = B 5|

TAEREZR2E 95
(4 Bt R I o)
PESEAR B HEHE R R - 4 W T A 5 ] | 507
HEM A ’

= 2 90,529 | AR —V BB HEHERS 2 3,000
FEETFELO B EEE 798
o oA py = S ZNeTU N HITR
%TX?ﬁnﬁu}%ﬁ%n%*" 77,952 /J\‘%%/J\‘ﬁ/b
FHEMEES 619
(B FE T ARE)
BHAL A AT M aa -t 135 2R ERE
AL A —T 2 AR B T 4,725
AR— I 201 3/ M T EITER 3300
L DR ’

fii E=¢ 3,725 3,725

it 175,008




Q) EFHRIBTA

SE (HAL: FH)
= IH 1] ] FR £ %A
B O H E F OEX £ Gt OB SR 2 64F B 2,200
N F ¥ —+-SOHO FH i N
I S - S ﬁﬂ, SR 2 64F B 15,050
o S B RE R AR ST R B S B E R R Rk 264F 4,872




